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AQOFS 6, 7, 8 700[-m755 a=AL—F
AB-O 2,6,7,8 700|755
APQFS 4.5 6 700|754 A=A —k
APRQOFS 5 6 700|—#754 a=hLL—k
B-O 2 4 430|755 sa—ty—F
B-OH 2 430|—m755
B-OH 4 410|—m735
B-OH-10 4 410|—mw755
B-OL 4 6 430(|-#735 va—hyY—F
BO-LM 2,4 430|—mw755 sa—h)—7F
BOECS 7,8, 9 600|755
BOEFS 8, 9 500|—#757 A=ALS—Fk
BOEG 8,9, 10, 11 600|—m7355
BOEGP 10 2,700|v757
BOEGV 8, 85, 9, 95, 10, 105, 11 1,600|v755
BOEM 7 600|—#757 215
BOES 4,5 6,7,8,9, 10 410|—m7545
BOES-11 6, 7 410|—-mw755
BOEVX 6,8, 9,10 1,500|vx755
BOHCS 7,8, 9 600|754
BOHS 5,6,7,8,9, 10 410|—m735
BOHS-10 6, 7, 8 410|—-m755
BOHSA 6 410|—m735
BOHVX 6,8,9 10 1,500[vx755
BOS 6,7, 8 430|735 sa—hy—F
BCOES 6 450|754
BCPOE 5 6,7 450|70—>7354
BCPOE-11 6, 7 450|79—>73545
BCPOES 4,5 6,7 450|735
BCPOES-11 4.5 6,7 450|-mw755
BCPOET 5 6,7 700|755 348
BCPOEVX 5 6,7 1,500 (|vx755
BCPOEY-11 5 450|70—>7354
BCPROE 5 6,7 520|17W—>735
BCPROE-11 5 6,7 520|7v—>7354
BCPRQOED 6 700|—#755
BCPRQOEDIX 7 1,950(|x75%
BCPROEIX—11 5 6 1,850|x754
BCPROEIX—11P 5, 6 2,050 |MAXT S
BCPRQOEKD 6, 7 800|754 218
BCPROES 5,6, 7 520|735
BCPROES—11 4.5 6,7,9 520|755
BCPROET 5 6,7 750|755 348
BCPRQOEY 5, 6 520|17W—>735
BCPROEY—11 4,5 6,7 520|7v—>7355
BCPROEY—N—11 6, 7 520|17W—>735
BCROES 8 520|735
BEQO27Y—11 5 570|7v—>7355 =L
BKOE 5 6 450|7v—r735%5
BKOE—11 5, 6 4509 —>735
BKOEK—N—11 7 940|737 248
BKROE 4.5 6,7 520|17W—>735
BKROE—S8S 6 520|7u—>735%5
BKROE—9S 6 520|7v—>7355
BKROE—11 4.5 6,7.8 520|7u—>735%5
BKROE—N 5 6 520|17W—>735
BKROE—N—11 5 6,7 520|17W—>735
BKROEIX 5 6 1,850 [x755
BKROEIX—11 5 6,7 1,850|x7357
BKROEIX—11P 5 6 2,050[mAxT55
BKRQOEIX—11PS 7 2,050|mMAXTS5Y
BKROEIX—5LPG 6 1,700{mAxT55
BKRQOEIX—LPG 6 1,700|mMAXT5%5
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BKROEIX—P 5. 6. 2,050[MAXT57
BKROEIX—PS 6 2,050[mAxT55
BKROEK 5 700|—#7545 218
BKROEK 6 900|—#757 218
BKROEKB—11 5 6 660|754 218
BKROEKC 5, 6, 700(—#r54 215
BKROEKC—N 7 1,000|—#%&75% 218
BKROEKC—N—11 6, 7 1,000|—#755 2f
BKROEKE 6 700|755 218
BKROEKPA 6 1,800[a2757 218
BKROEKU 5, 6, 1,400(—#%&755 218
BKROEKUB 6 700|755 2B LIAE
BKROEKUC 5 6 700|754 2B HINE
BKROEKUD 5, 6 700|735 2B LIRAE
BKROEKUE 6 800|—m735 SELINE
BKROEKUP 5 1,800|a£754 2B LSO
BKROEQU 6 800(|—m735 AFEINE
BKROEQUA 6 800|-mw7355 ABEINE
BKROEQUP 6 2,000(a£755 ABEIRE
BKROEQUPA 5 2,000|m&755 MBEIDE
BKROEPX—P 5 6 2,300|rx754
BKROERX—PS 6 2,300 |rRx75%7
BKROERX—11P 5 6 2,300|rx754
BKROERX—P 5 2,300 |rRx75%5
BKROERX—PS 6 2,300|rx754
BKROES 5,6 520|-m755
BKROES—11 5, 6, 520|755
BKROETA—10 6 750|754 348
BKROETP 6 1,900(a2755 348
BKROETUA 5 750|754 BEEINE
BKROEY 4.5 6,7 520|7u—>F55
BKROEY—11 5 6 520|7v—>7354
BKROEYA 5 6 520|7u—>F545
BKROEYA—11 5 6 520|7v—>7354
BKROEZ 5 6 700{7v—75%

BKUROE 6 600|7v—>734 BBy T fHE
BKURQEK 6, 7 700|754 BT HE
BKUROQEK—9 6 700|735 BBy T fHE
BKURQET 5,7 1,500(—m@757 BEE vy HE
BKURQET 6 900|—m735 BBy T fHE
BKURQET—10 5 1,500(—m@757 BEE vy HE
BKURQET—10 6 900|—m735 BBy T fHE
BMQO 6, 7 450|755 INE
BMOA 4, 6, 450|—-mw755 INEY
BMQOF 6, 7 450|—#735 NI AL —
BMROA 2,4, 6,7 570|1—#7345 VR
BMROA—10 2 570|—-#755 B
BMRQOF 6 570|-w7355 INRIAZALL—k
BP—O 4 430|755 Sa—ky—7F
BP—QE 2 410|-te757

BPOE 5,6 430(7v—7355

BPOEA 5 410|-te757

BPOEA—L 5 410|754

BPQOEFS 5, 6, 500|735 azhLL—h
BPOEFS—13 5 6 500|755 az=hLL—h
BPOES 2,4,5 6,7,8,9 410|755

BPQOES GAPO. 7mm |6 410|—m754

BPOES—11 4,5 6,7 410|—mw755

BPOES—13 5 410|755

BPOESZ 5 6 410|—mw755

BPOET 5, 6, 700(—#>r54 318
BPOET—10 5 700|—#755 318
BPOEY 4,5 6,7 4307 —>7355
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BPOEY—11 4,5, 6, 4307757

BPOFS 4.5 6,7 500|—-#%755 A=A —F
BP—QOH 2, 4 410|—m755
BPOH—N—10 8 430|7v—>73545

BPOHA 4 410|—m755

BPOHS 2,4,5 6,7,8 410|—-m7545

BPOHS—10 4,5 6,7, 8 410|755

BPOHS—15 8 410|755

BPOHSA 6 410|755

BPOS 5, 6 430(—mw755 va—h)—7F
BPMOA 4, 6,7 450|755 INE
BPMQOA—10 4 6 450|755 INEY
BPMQOF 6, 7 450|755 NS =L —k
BPMQY 6,7,8 450[7v—>754 IR
BPMRQOA 4, 6,7 570|734 INE
BPMROA—10 4 6 570|-m&7355 INEY
BPMRQOF 6 570|755 NSRS —
BPMRQY 6,7,8 570|7v—>7357 IR
BPR—OE 2 450|755

BPR—QOH 4 450(—w755

BPROE 5 6,7 450|79—>73545
BPROE—11 5 6 450|70—>7354
BPROEFIX—13P 5 6 2,150|MAXTS55 az=hLI—k
BPROEFS 5,6 570|735 azALY—h
BPROEFS—13 5 6 570|755 az=hLI—k
BPROEFS—15 6, 7 570|735 azALY—h
BPRQOEIX 5 6,7,8,9 1,850|x754

BPROEIX—11 5,6 1,850([x757
BPROEIX—11P 5 6 2 ,050|mMAXTS55
BPROEIX—LPG 6 1,700{mAxF54
BPROEIX—P 5 6 2 ,050|mMAXTS55

BPROEJ 5 690|—7355 215
BPROEK—A 6 590(—#w755 248
BPROEKB 5, 6 600|—#737 248
BPROEKB—L 6 600(—#%755 248
BPROEKN 6, 7 590|—#w737 248
BPROEKU 5 1,800(—#&754 2B SINE
BPROES 2,4,5 6,7,8 450|—m735
BPROES—11 4.5 6,7 450|-mw755
BPROES—13 4,5 450|755

BPROEY 4.5 6 450|79—>73545
BPROEY—11 4.5 6,7 450|9v—>r7355

BPROFS 4.5 6 570|-%75%5 a=hLs—k
BPROFS—11 4.5 570|545 aA=HLL—h
BPROFS—15 4,5 570|755 az=hLL—h
BPROHIX 6,7, 8 1,850|x7357

BPROHS 2,4,5 6,7,8 450|-m755
BPROHS—10 4,6,7,8 450|755

BPROHSA 4 6,8 450|-m755
BPZOH—N—10 8 900y v—>7355
BPZOHS—10 8 900|—m7354
BPZOHS—15 8 900|734

BRO—LM 2,4 500|755 NI 3—h)—F
BROEB—L—11 6 450|755

BROECM 8,9, 10 730|—#755

BROECMIX 8,9, 10 2.250|x75%5

BROECS 8,9, 10 690|754

BROECS—5 9 690|754

BROEF 6, 7 570|7v—755 A=A —F
BROEFS 7 570|-w7355 aA=ALS—Fk
BROEG 8,9, 10 670|755
BROEG—N—8 9 670|755

BRQOEIX 7,8, 9, 10 1,850|x75%5
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BROEM 8 700|857 P
BROEQ 8 790|754 415
BROEQ—14 8, 9 790|755 458
BROES 4,5 6,7,8, 9, 10 450|—-mw755
BROES—11 6, 8 450|—m755
BROET 8 750|754 318
BROEYA 9, 10 450|7y—>735%9
BROFS 5,6 570|-%755 A=A —k
BROFS—15 6 570|—-#757 A=ALS—Fk
BROHCS—10 8 690|755
BROHIX 6,7,8,9, 10 1,850|x754
BROHS 4,5 6,7,8,9 450|—-mw755
BROHS—10 6, 7,8, 9 450|755
BROHSA 4, 6, 8 450|—-m755
BROHSA—9 6 450|755
BROS 6 500|735 va—hy—F
BUOH 8 900|—#757 CIAE
BUE 900|735 RE
BUH 900|—-&757 B
BUHW 900|—m735Y BE
BUHW—2 900|—m757 BE
BUHX 900(—mz55 BE
BUHXW—1 900|—m757 BE
BUROEA—11 5 6,7 570|735 BEX vy HE
BUROEB—11 4.5 6,7 570|755 BEE vy fEE
BURQEFSZ 6 1,600|—#®754 a=HLL—F
BURQOEQ 6,7,8,9 1,400(—#%&755 ABEIOE
BURQEQP 7.9 2,400|ae755 ABEINE
BURQET 5 800|—#75% SELINE
BURQET 6 900|—7355 BEEINE
BURQET—10 5 800|—#75% SELINE
BUZOH 8 1,300|-#®754 ESOE
BZOHS—10 7 900|754
C—50 700|755 INBSS 5—P)—F
COE 7,8, 9 700|—#755
COEH—9 8, 9 650|735
COH 2 410|754
COHA 6,7,8 410(—w7355
COHSA 5 6,7, 8 410|-mw755
COHSB 4,5 410|—m7545
CM—6 700|—m755 N a—h)—F
CMROA 4.6, 7 650|735 INE
CMROH 4.5 6,7 650|—mr54 INE
CMROH—10 7 650|—m755 INE
CPROE 8 700|—#755
CPROEA—9 6,7,8,9 700|—#&755
CPROEA—9S 6 700|—#755
CPRQOEAIX—9 7 1,950|x75%
CPRQEAIX—9S 6 1,950 [x75%
CPROEB—9 8, 9 700|755
CPROEDX—9S 6,7, 8,9 2,200|pox755
CROE 6,7,8,9, 10 700|—#&755
CROEB 7,8, 9 700|—#755
CROEDX—S 7,8, 9 2,200|px754
CROEH—9 5 6,7,8,9 750|—#755
CROEH—9S 8 7150|—#755
CROEHDX—9S 8, 9 2,200|pox755
CROEHIX—9 8, 9 1,950|x7357
CROEIA—9 8, 9 1,700(1uoH L7575
CROEIA—10 8 1,700]|1U>5 4755
CROEIB—10 8 1,700[|1u>9 L7559
CRQOEIX 7,8, 9 1,950|x7357
CROEK 7,8, 9, 10 800|754 215
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CROEKB 7.8, 9 800|157 P
CRQOEKC 7 750|875 213
CROEKPA 9 2,000|a£755 218
CROHDX—S 6, 7 2,200|ox755
CRQOHIX 5 6,7,8,9 1,850|x7357
CROHS 5 6,7,8 450|755
CROHSA 4,5 6,7,8 450|757
CROHSA—9 7 450|—-mw755
CROHSB 4,5 6 450|755
DOEA 6,7,8,9, 10 410|—m7545
DQOHA 6, 8 410(—w7355
DOHS 5 6,8 410|755
DCPQOE 6, 7 650|754
DCPROE 6,7,8,9 750|—#755
DCPROEA—9 7 750|—#755
DCPRQEIX 6, 7 1,950[x755
DCPRQEIX—P 7 2,150|MAXTS5Y
DCPRQOEKC 8 800|-mw7355 215
DCPROEKP 8 3,260(a£755 218
DCPROE—N 7,8 750|754
DCPROERX—P 7 2,400|rx755
DCROEIX 7.8, 9 1,950|x75%5
DFOA—11A 5 2 450|MAXTS5Y
DFOA—13B 6 2,450|mMAxT5Y
DFOB—S8A 5 2,550
DFOB—11A 5 2,560|mMAxT35Y
DFOH—11A 6 2,750|MAXTS5Y
DFOH—11B 6,7,.8 2,650[vax754
DFHOB—11A 6 2,750|MAXTS5Y
DILFROD11 6 2.300[rusmnrss  |mvsu—=F
DILZKARQOA11 6 2,500|1usH a5 |ovsy—FREL
DILZKROB11GS 7 25001y LT5y  |avyy—FREL
DPOEA—9 6,7,8,9 410|-mw755
DPQOZ 8 500|-m755
DPROEA—9 56,7,8, 9 450|-mw755
DPROEB—9 6 450|—-mw755
DPRQOEIX—9 7,8, 9 1,850|x754
DPROZ 7.8, 9 570|-mw755
DPRQZIX 8 2,250([x755
DROEA 7.8, 9 450|735
DROEB 7, 8 450|-mw755
DRQOEIX 7.8, 9 1,850(x75%

DROES 7, 8 450|-mw755
DROES—L 8 450|735
DROHS 4.5 6,8 450|-m755
EROEH 8,9 10 1,100|—#754
EROEHIX 8, 9 2,750([x755
EROEH—N 8 1,100|—#754
FROB—D 2 680|—#755
FROBI—11 8, 9 1.500[«vom L7357
FROBP—11 5 1,300 (2757
FROEI 5 6 1,500[1uo9 L7559
G—27 700(—#&755
G—2Z 700|755
GROAI—10 5 1,500| s 6755
GROIX 4 5 20500557
HBOAIX—11P 6 2,450|mAxT54
HBOBIX—11P 6 2,450|mMAxT55
IFROB 6 1,700|1uo L7549
IFROC 6 1,700|1us L6755
IFROC—S 6 1,700[rusy 4755
IFROD10 5 6 1,700]|1U>5 4757
IFROE11 5 6 1,700]|1uo9 L7549




NGK T34

mE pli LS (k) EHE fEfR2
IFROHT1 8, 9 1,100[10>5 4757
IFROJ 6 1,700|1uo 6755
IFROJ11 5 6 1,700|1u>v 6755
IFROL11 5 1,700[1vsy L7355
IGROA 7 1,700|1us L6755
IGROB—10D 6 1,700|1uss 655
IJROB 8 1,900(1vsv L7559
IKROA 7 1,700|1uo L7549
IKROB 7 1,700|1us 6755
IKROE9 7 1,700|1uoy 6755
ILFROB 6 1,900[1usmnr55  [avsy—F
ILKAROB11 7 2,000[|1usynrss  [avsy—7
ILKROD6D 8 2.000[1veynrs5s  |avsy—3
ILKROD9 7 2,200[|1usynrss  |avsy—7
ILKROF11 6 2.200[1vsynrs5s  |avry—3
ILMARQAS 7 2,200[|1usynrss  [avsy—7
ILTROA—13G 5,6 2.200[1vsmnr55  [avsy—Faznis—t
ILTROA—8G 6 2.200|1usynrss  [avsy—Faznue—t
ILZFROB 5 2,200|1usm g5y [avgy—FrmL
ILZFROC—11K 6 22001z a5 |avsy—FREL
ILZFROC—K 6 2,200|1usmu7sy  [ovgy—FrmL
ILZFROD11 6 2,900y LT5y  |avyy—FREL
IMROB—9H 8,9 2,000|rueynr5y
IMROC—9H 8, 9 2,000[1uo5 755
IMROC—9HES 8, 9 2,000|1ueyLF55
IRIMACQO 8,9 2.600|1v>—z735%
IRITOPO 7,8, 9 2,600[ry>—x7545
IRIWAYO 7.8, 9 2,600[1>—2755
ITROF13 6 2.000[1vsynrs5s  [a=nnv—t
IZFROB 5 6 2,000[rusmnrss |mmL
IZFROF11 5 2.000|1ueHLF5y =L
IZFROK1 1 6 2,000[rusHnrss |mmL
IZFROK—11S 6 2,000|1ueHLF5y =L
IZFROK13 6 2,000[|1usmarsy |=mL
IZKROB 7 2.800|1usHnrsy  |mmL
JOA 9 570[-1755
JROB 8,9, 10 650(—#w755
JROC 8,9 650|755 218
KROAI 7 1,500[1uoy L7549
KRQOBI 8 1,500[1u>y 6755
LFROA 6 650(7v—735%5 vy y—F
LFROA—11 5 6 650[|7u—735% oLy —F
LFROAIX—11 5,6 1,950 [x75% avy)—F
LFROAIX—11P 5,6 2,150|max755 avgy—F
LFROAIX—LPG 6 1,800|mMAXTSY Avy)—F
LFROAIX—P 6, 7 2,150 ([maxr5% Ay —F
LFROAP—9 6 1,470|a2755 Avy)—F
LFROAP—11 5 1,470(a&755 avgy—F
LFROAQP 5 2.400|a2757 afEns s —F
LFROARX—11P 5,6 2,400|px735% avgy—F
LFROBP—11 5 1,470|a2755 Avy)—F
LKARQAIX—13P 6 2,350 (maxr5% AvSy—F
LKAROARX—11P 7 2,400|rx755 Avy)—F
LKROAI 7 1,700[1usmnrss  [avsy—s
LKROAIX 7 1,750[ix754 ovsy—F
LKROAIX—P 6, 7 2,050 (maxT55 avy)—7F
LKROARX—P 6,7 2,400|rx75% vy y—F
LKROB—9 7 830(—#7355 Vs U—F
LKROBI8 7 1,700[1vsm 6755 [ovsy—F
LKROBIX—P 7 2,050 (maxT55 avy)—7F
LKROC 6 830|—m755 avsy—F
LKROE 7 830(—#7355 Vs U—F
LMARQC—9 6 1,370|-8&754 avsy—F
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mA 8 450 —B/75Y
LROC—E 4 450|757
LTROARX-13P 5 6 2,400|rRx754 YY) —FazhiLs—
LZFROAI 6 2,000[|1usmnrss  [avoy—FrmL
LZFROAQP 5 2,400|a&755 MBESREOL Y U—F ML
LZKAROQAP—11 6 1,500|a£754 Ov4—FRHL
PFROA—11 5 6,7 1,500|a£754
PFROA—11A 5 6 1,500|82755
PFROB 6,7, 8 1,500|8£755
PFROB—11 5 6,7 1,500(a2757
PFROB—11B 5 1,500|a£755
PFROB—11C 6 1,500[a2757
PFROB—9 5,6,7,8 1500]|a2757
PFROB—D 6,7 1,500|a2755
PFROC—11 5 1,500|Be754
PFROE—10 6 1,500[a2757
PFROF—11A 5 6 1,500|8£754
PFROG 6 1,500|a£754
PFROG—11 5 6,7 1,500|sa£754
PFROG—11E 5 1,500[a2757
PFROG—11S 7 1,500|a£75%
PFROG—13 6 1,500|a2754
PFROG—13E 5 6 1,500|a£75%
PFROH—10 6, 7 1,500|a£757
PFROJ 6 1,500|8&754
PFROJ—11 5, 6 1,500(|a£757
PFROK—11 5 1,500{a2757
PFROL—11 6 1,500(a2754
PFROM 7 1,500]|a2754
PFRON—11 5 6 1,500|a¢755
PFROP-11 5 1,500{a2757
PFROQ 6, 7 1,500|a£754
PFROR—11 5 1,500|a275%
PFROV—10D 6 1,500|a£754
PGROA 6, 7 1,500|a2755
PGROA GAPO. 7mm |6, 7 1,500|a2755
PGROA—11 5 6 1,500|a275%
PGROA—-D 6 1,500(a2754
PKROA 7 1,800|a2754
PKROB 9 1,800(a2754
PLFROA—11 5 6 1,500|a275% avy)—F
PLKROA 6 2,600|a&755 By g y—F
PMROA 7,8 2,000|a&757
PMROB 9 2,000(a&755
PTROA—13 5 1,800]|a2754 Ovsy—Fa=hILL—h
PTROC—13 5 1,800|a&754 aA=HL—h
PZFROB 5 6 1,800|{a&757 E
PZFROC 5 1,800|a&754
PZFROD—11 5 1,800|a%757 EHL
PZFROF 6 1,800|a&754 L
PZFROF—11 5 6 1,800|a%757 EHL
PZFROF—13 5 1,800|a&754 L
PZFROG—G 7 1,800({a&757 E
PZFROH 6 1,800|a&754 L
PZFRON—11T 5 2,600|a2754 EHL
R0O045G—0 10, 11 3,400|v—y2 5755
R0045J—0 9, 10, 11 3,400|v— 25755
R0O045Q—0 10, 11 5,800|v—v 5755
RO373A—0 8, 9, 10, 11 4,100|v—>>5955
R0409B—0 8,9, 10 2,900[v—>>5755
R0451B—0 8 2,940|L—25755
R0451C—0 10 6,300|v—y> 5755
R0O452A—0 10 6,500|L—>5757
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RO459A— 0O 70 6.300]L—>>7057
R0465B—0 10 5,400|v—2 5755
R2349—0 9, 10, 11 3,600[v—>>5755
R2525—0 9,10 2,900|v—r5755
R2556G—0 8,9, 10 4,300|v—>>573545
R2558E—0O 8,9, 10 4 300|v—vo5755
R41185—0 8,9 2,400|v—>25755
R4304A—0 8,9, 10 2,400|v—25755
R5184—0 105 3,340|v— 25755
R5525—0 7,8, 10 2,700|v—>25755
R5530—0 8,9, 10, 11 3,340|v— 25755
R5649—0 9,10, 11 3,400|v—>2 5755
R5883—0 9, 10, 11 3,400[v—>>5755
R6021E—Q 8,9, 10 2,600|L—>5757
R6179A—Q0P 105, 11 4400|v—>>57545
R6179C—0OPA 105 4,600|v—>57355
R6252K—0 105 1,100[v—29757
R6254E—QO 9, 105 1,000|v—>>97355
R6254K—0 105 1,000|L—25755
R6601—0 8,9, 10, 11 3,600|L—29 755
R6690—0 9, 10 3,600|L—>+5755
R6712—0 9,10 3,600|L—>5735%5
R6725—0 9,10, 105, 11, 115 3,800[v—>>5755
R6888A—0O 8,9, 10 3,400|v—2 9755
R6918B—0 7,8,9 3,000|L—>>5755
R6918C—0 9 3140[L—>2v7355
R7279—0 10 4,600 —>5755
R7282—0 8,9, 10, 105, 11 5,100|v—29755
R7282A—0 10, 105, 11 5,100|v—25755
R7282C—0 11 4200(v—vr5755
R7376—0 7,8,9, 10 3,900[v—>>5755
R7376B—0 9,10 4 100|v—>299355
R7420—0 9, 10, 105, 11 4100|v—>>5735%
R7433—0 8,9, 10 3,500[v—>5755
R7434—0 8,9 10 4,100 —>5955
R7435—0 8,9,10 3,500|L—>5755
R7436—0 8,9, 10 4,100|v—>>5755
R7437—0 8,9, 10 3,700|v—>575%5
R7438—0 8,9, 10 4 300|v—v25755
R7440A—0L 9,10 5900(L—>575%5
R7440B—0QT 10, 11 5,900[v—>>5755
R847—0 10, 11 3,600|L—>5735%5
REOB—T 9 3,570[rusmnrsy
REQC—L 7.8 3,880|rusynrsy
SDOA 10, 11 1,300]-%757 P
SILROA7S 6 2,000[rusH 755
TRO 4,5, 6 720|79—>755 a=HLS—h
TRO -1 5 720|7v—>7354 I=ALL—F
TRO—1IX 5 1,800(x75% a=ALL—b
TRO5—1IX 5 2,050 (ix75% A=A —k
TROS5IX 5 2,050|x75%5 a=ALL—b
TROAI—13 5 2,050[rusmnar55  |a=nns—t
TROIX 4.5 6,7 2,050(ix75% a=hLs—k
URQOS5IX 4.5 2,050(ix75% A=A —k
URQIX 4.5 6 2,050(ix75% a=hLs—k
WRQO—1 4 720|7W—F55 a=hLL—b
WROIX 5 2,050|x755 azhLL—h
XRO5 4 720(70—7357
XROS5IX 4 2,050|x755
XROIX 4,5 2.050[x757
YROSGIX 5 2,050(|x75% a=hLL—k
YRQIX 5 2,050(ix755 aA=ALS—Fk
ZFOA-11 6 520|51—>73%9 e




NGK T34

mE M N FEATAE (B iR) &5 @2
ZFROA—11 5 6 620|17W—>735 Z=HL
ZFROD—11 5 620|7v—7354 EHL
ZFROE—11 4,5, 650|7W—>735 =L
ZFROF 5,7 620|7v—7354 EHL
ZFROF—11 4,5, 620|17W—>735 =L
ZFROFIX—11 5 6 1,950[x754 RHiL
ZFROFIX—11P 5,6 2,150|max755 RitiL
ZFROG 5, 6 700(7u—>755 24BZEHL
ZFROJ—11 5, 6, 620|7—7F55 ZEHL
ZFROK—11 6 620|7v—7354 ZEHL
ZFROK—11S 6 620|7—7F55 ZEHL
ZFROKIX—11PS 6 2,150|mAxT55 Z=HL
ZFROMP 6 1,600|8£755 ZHL
ZFRON 5 900y u—>73%5 ZEHL
ZGROA 5 570|7v—>7354 L
ZGROB 5 570|5u—>73%5 ZEHL
ZGROB—11 6 570|\7v—75%5 ZEHL
ZGROC 5 700|7u—>7355 L




